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2- 1 kis
M |200 200~400 [400~600 600~800 (800~1000 |1000
H 0.253 0.26 0. 27 0.3
0.58 0.69 0. 73 0.2
0.54 0.63 0. 66 0.2
0.5 . 58 0./ 61 0. 6|5
SW 0.409 0.56 0. 59 0. p3
W 0.51 0.58 0.6 0. 6|5
0.56 0.63 0. 66 0.1
NW 0. 66 0.73 0. 76 0.3
0.709 0.88 0. 93 1
0.9 1 1 1 |
0.853 0.94 0. 98 1
EN 0.71 0.81 0. 85 0. 98
ENE, 0. 63 0.72 0. 76 0. 89
0.58 0.67 0.7 0. 8|3
ESE| 0. 516 0. 64 0. 68 0.8
SE 0.56 0.65 0. 69 0. 81
SSE 0.58 0.68 0. 71 0.2

17



2- 2 kis
M 200 200~400 400~600 600~800 800~1000 |1000
H 0.2 0.23 0.25 0.26 0.31 0.35
0.5 0.58 0.64 0.68 0.79 0.92
SSW 0.44 0.52 0.56 0.59 0.66 0.76
WSW |0.41 0.47 0.5 0.53 0.58 0.66
SW 0.41 0.46 0.49 0.51 0.56 0.63
0.43 0.48 0.51 0.54 0.59 0.65
WNW (0.49 0.54 0.57 0.61 0.66 0.73
NW 0.59 0.65 0.69 0.73 0.81 0.9
NNW (0.73 0.81 0.62 0.93 1 1
0.85 0.96 1 1 1 1
NNE 0.78 0.88 0.97 1 1 1
EN 0.68 0.76 0.85 0.98 1 1
ENE (0.6 0.67 0.76 0.88 1 1
0.55 0.62 0.71 0.82 1 1
ESE 0.53 0.59 0.68 0.78 1 1
SE 0.52 0.59 0.68 0.75 0.96 1
SSE 0.51 0.6 0.67 0.73 0.89 1
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2- 3 kis

M 200 200~400 |400~600 600~800 [800~1000|1000
H 0.19 0.2 0.21 0.24 0.26 0.29
0.45 0.5 0.54 0.62 0.7 0.77
SSW 0.4 0.45 0.47 0.54 0.59 0.64
WSW 10.37 0.41 0.43 0.49 0.53 0.57
SW 0.37 0.4 0.42 0.48 0.51 0.55
0.39 0.43 0.45 0.5 0.53 0.58
WNW (0.45 0.49 0.51 0.56 0.6 0.65
NW 0.56 0.6 0.63 0.69 0.74 0.81

NNW (0.7 0.75 0.79 0.87 0.95 1

0.81 0.88 0.93 1 1 1

NNE [0.74 0.81 0.86 0.96 1 1

EN 0.64 0.69 0.74 0.84 1 1

ENE 0.56 0.61 0.66 0.75 0.92 1

0.52 0.56 0.61 0.69 0.86 1

ESE  10.49 0.54 0.59 0.67 0.82 1
SE 0.48 0.53 0.58 0.66 0.8 0.95
SSE  |0.47 0.52 0.56 0.66 0.76 0.87
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-2 ki
N NNE NEf ENE E EISE E S|SE ESW SWWSW
0. O®. 71 0.80 0. 88 0] 92 0./95 0.P5 0.93 0. 9@ 0.83 0. B
0. 10. 41 0.56 0. 77 0] 86 0./92 0.P2 0. 88 0. 8|5 0.99%4 0. &1
0. 1/®. 32 0. 47 0. 68 0] 82 0./89 0.8B9 0. 85 0. B|2 OHB@ 0. 4l
0. 2(0. 24 0.41 0]. 61 0|79 0.(86 0.B7 0. 82 0. g0 0“B¢ 0. aé
0. 2(®. 21 0. 38 0|]. 56 0/l 75 0.(84 0.B5 0. 19 0. g5 0.67F 0. 832
0. 30. 21 0. 35 0. 53 0] 72 0./82 0.83 0. 176 0. @ 0.6438 0. 8¢
0. 4/ 0.1 0. 3 0. 4|6 0.6 D. 79 .80 oL 7 . 66 .56 ®..
0. 50. 14 0. 26 0]. 42 0] 62 0.(75 0.7 0.496 0. %2 0“5? 0. 27
0. 60. 19 0. 24 0. 39 058 0.|/73 0.5 0.3 0. 5@ Onsb 0. 2¢
0. 70. 19 0.23 0]. 37 0/55 0.(71 0.2 0.4q0 0. 5|5 0.3 0. £¢
0. 8. 14 0. 22 0|]. 35 0/53 0.(69 0.0 0. 58 0. 5@ 0.3%1 0. 2¢
0. 90. 19 0. 22 0. 33 051 0.|/67 0.p8 0.837 0. 513 0“3@ 0. 2¢
1. 00. 19 0. 22 0]. 32 0|l 49 0.(66 0.pb6 0. 6 0. 449 0“3¢ 0. 24
1. 20. 19 0. 22 0]. 31 0l 47 0.(64 0.pb4 0.5§53 0. 4|7 0“@$ 0. 27
1. 4/0. 14 0.21 0. 30 0] 46 0.|/62 0.p2 0. §2 0. 4|6 OnQb 0. 2]
1. 6/0. 14 0.21 0. 29 0] 45 0./60 0.p60 0.931 0. 3% 0.2% 0. 2¢
1. 80. 17 0.21 0]. 28 0/ 43 0.(58 0.p8 0.49 0. 38 0.248 0. 2¢
2. 0. 17 0.20 0]. 27 0 42 0.(57 0.pH6 0.48 0. 32 0. 23 ©. 27
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4 I Hk
4 - 1 I Hk
( )
_E K & B (m) | 20084 |8 200 ~400 ]| BiBA00 ~ 600 | FBIBE00 ~ 800 | RBIBS00 ~ 1000 | ABE1000
=T |K ¥ H (H) 695900 618900 588800 531800 457100 |366700
g (S ) |273800| 231300 219900 195800 169900 135000
bl FIEIAE (SSW) [297700| 253800 242400 221500 197100 |158800
Ll (SW) |319500| 275400 264100 245300 220100 179800
iz i) (WSW)|326600| 283800 272300 254000 228700 189000
=R (W ) |314000( 275700 264500 246500 222100 |183700
IHK P4t ?E (WNW)|284300| 253100 242700 225500 202000 166800
/it (Nw) [243200| 218500 209200 193200 171200 |140700
=l JEdEP (NNW) [202300| 180900 172900 158100 137900 | 112400
y~HE|4 (N ) |177000| 156600 149400 134500 114100 91700
JEdE3R (NNE) {193900| 171100 163400 144200 117300 91800
R4t  (NE) [224400| 197200 188600 163800 128400 99300
= RILE (ENE) |254800| 222100 211800 180600 139000 107300
“ i [/ (E ) |276400| 239900 228200 192500 148100 113100
v RER (ESE) [286600| 248500 236100 199000 155000 |118200
< 3RE (SE) [285100| 245900 233300 198300 158400 |121500
E FER (SSE) |277400| 236100 224000 194100 161100 125400
4 - 2 I Hk
(
B K = = (M) | 20080T |#BiB200~400 | BIBA00 ~600 | FEBE600 ~800 | ABIBS00 ~ 1000 | FEBE1000
TPK ¥ E (H) 744000| 661800 631500 569000 490300 389700
g (S ) |286100| 241900 230700 204900 178200 140400
p:l FIEEE (SSW) [311200| 265800 254500 231900 206700 | 165200
Cil] (SW) |335000| 289500 278200 257600 231500 187700
iz Lifeaic) (WSW)|343600| 299500 287800 267800 241300 198000
=RF] (W ) (331700 292100 280700 261200 235400 193400
IHK FdE? (WNW)|[302100| 269600 259000 240200 215300 176600
it (Nw) [260000| 233800 224400 206900 183600 149900
=l JEdEPE (NNW) |217300| 194400 186400 170100 148600 120300
ylE7 (N ) |190600| 168900 161600 145100 123100 98000
JE4E3R (NNE) |210000| 185400 177600 156200 127000 97800
Rit (NE) |243300| 214000 205100 177500 139200 105600
§ RIER (ENE) |275500| 240300 229800 195500 150600 113700
C L R (E ) [297500[ 258300 246500 207700 160000 119700
— RER (ESE) |307000| 266300 253800 213700 166800 124800
< RE (SE) |303300| 261600 249100 211400 169200 127900
=) FIRIR (SSE) [292400| 248900 237100 204900 170700 131400
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4 - 3 I Hk
(
_E K = K (m) | 2005LF [iB200~400 | HBIB400 ~ 600| RBIB600 ~800] #EES00 ~ 1000 | F&B1000
FPK ¥ E (H) 978000 876200 808200 755300 652100 574800
= (B (S ) 403700 342100 310600 293400 252000 217700
bl L] (SSW) | 449800 384100 357600 338600 301800 263900
P (SW) | 487100 | 421600 396800 376200 341900 302800
iz P (WSW)| 493400 | 432800 410000 388700 355000 317400
B A (W ) | 464900 414000 392300 371400 339300 306200
IHK ik (WNW)| 409600 370300 349900 330300 300900 272400
/it (Nw) | 340100 309200 290600 273200 246400 223000
=l dbdEP (NNW) | 274800 247700 320900 215900 191600 172400
X |IE (N ) 234600 208800 193300 176800 152900 134200
bR (NNE) | 254900 226000 206700 182300 151900 129600
it (NE) 296100 262700 235300 204000 164000 138300
§ RiIER (ENE) | 335300 297400 262400 226700 176200 147600
EEVALY (E ) 363700 322600 281200 244400 186700 156900
- SREXR (ESE) | 380800 | 336900 | 292100 | 257600 197900 | 166400
< RE (SE) 388100 338900 294900 265800 208600 176500
E [ (SSE) | 392200 335800 296700 275000 224700 192400
(1 Hk)
4 - 4 | Hk
(

_ﬁ K = E (m) 20054 F | #8200 ~ 400 | #iB400 ~ 600 | #1600 ~800 | #EiE800 ~1000 | EiE1000
FTPK ¥ E (H) 901100 811300 745400 638200 539800 434600
E: ] (S ) 324700 | 285200 255800 208700 178800 140400
yal FIRIPE (SSW) | 342100 | 304900 | 279200 | 233900 | 207600 | 170300
L] (SW) | 361500 | 325300 301100 259300 233000 197000
iz PP (WSW)| 365900 | 331200 308700 268900 243200 209200
B [f (W ) | 350000 | 317600 297800 261300 236900 204300
IHK FdE? (WNW)| 318500 | 289000 270800 239400 216000 185700
/it (Nw) | 275000 | 249500 232600 205200 183100 156000
=l dedb?@ (NNwW) | 230900 | 208700 193100 167600 146800 122500
% |t (N ) 205000 | 183400 168400 141700 119500 96300
b3 (NNE) | 234300 | 208800 188800 153800 122200 95100
|4 (NE) 281900 | 249600 221600 178400 134500 102100
,:5 RIER (ENE) | 326600 | 287500 252100 199400 146500 109000
C R (E ) | 357100 | 312400 | 272600 | 213800 156800 | 114200
— RER (ESE) | 370800 | 323200 281100 221100 164800 119300
< RE (SE) 364600 | 317900 276700 219000 168500 123500
=) FIFIER (SSE) | 344200 | 300800 | 264200 | 211300 171000 | 128800
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4- 5 | Hk
(
(8 X = = (m) | 2005LK [#BiE200~400 | HBiB400 ~600 | REE600 ~800| RBES00 ~ 1000 | *EE1000
FPKF ®E (H) 1039000| 1039000 | 974500 | 894300 806400 | 716600
H [/ (S ) | 464500 | 439300 | 401200 | 350800 314300 | 276500
p:l FIEA (SSW) | 532200 | 508400 | 465300 | 412900 375100 | 334000
P (SW) | 586600 | 561400 | 516500 | 464700 425400 | 381300
iz PAEIPE (WSW)| 598200 | 572200 | 529100 | 481200 442800 | 399100
=R (W ) | 564000 | 538700 | 500800 | 459900 423400 | 383400
IHk| |#dE# (WNW)| 492900 | 469100 | 439200 | 407800 374600 | 341200
il (NwW) | 402400 | 381600 | 357600 | 334000 305700 | 279800
=l JtdE? (NNW) | 318600 | 301000 | 282800 | 261900 238400 | 216000
|4 (N ) [ 267000 | 251700 | 235500 | 215500 190400 | 167800
JEdE3R (NNE) | 284200 | 267400 | 250100 | 228000 192600 | 163000
R4t (NE) | 325900 | 303700 | 284400 | 258300 212100 | 174000
= R4ER (ENE) | 364300 | 337000 | 315600 | 284700 231200 | 187100
SEVAL (E ) [392700 | 361700 | 338300 | 303200 245600 | 198900
— RER (ESE) | 410200 | 377600 | 352600 | 314800 257800 | 212300
< RE (SE) | 420900 | 389200 | 359900 | 318900 267600 | 226200
=3 FAFAR (SSE) | 435400 | 406700 | 373700 | 326900 284800 | 245800
(1 Hk)
4- 6 | Hk
(

E K E (m) 2004 |i#EiB200~400 | #EiB400~600 | #iB600~800 | ##iB800~1000 | #EiB1000
B KF E (H) 1101300 | 987700 949300 846800 759700 | 616400
¥ [ (S ) | 412200 | 338600 324800 280800 256400 | 202900
bl FAFEPE (SSW) | 463000 | 384500 369800 332300 309500 | 258300
P (SW) | 513400 | 432700 416800 382200 357900 | 309500
iz PAEA (WSW)| 530600 | 454300 437900 406400 381300 | 334600
B [ (W ) | 508900 | 443400 427300 398200 373400 | 330600
IHk| |#&dE?8 (WNW)| 454100 | 404900 390000 361900 338200 | 299400
/it (Nw) | 377900 | 343100 330100 303900 282100 | 246700
=l JedEPE (NNW) | 300800 | 272500 261600 237700 218100 | 186400
¥ [t (N ) | 250200 | 224100 214500 189800 167900 | 136800
JEdE3R (NNE) | 276600 | 247900 236500 203500 169100 | 129500
R4t (NE) | 330900 | 294700 280700 235300 187000 | 137600
= 3R4L®R (ENE) | 379800 | 335900 319800 263700 205900 | 145900
© L R (E ) | 412800 | 362600 345100 281500 220100 | 153700
- SRE®R (ESE) | 427200 | 374000 356200 288900 230400 | 161200
< RE (SE) | 424400 | 366900 349900 285700 236300 | 168400
2 FIEIR (SSE) | 413600 | 347300 332100 277100 241100 | 179800
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4 - 7 I Hk
(

B K @ = (M) | 2004 [#B200~400 | H1BA400 ~600 | FEIBE00 ~ 800 | FEIES00 ~ 1000 |EiB1000 AL
FTPK ¥ E (H) 1219600| 1129200 | 1070600 968900 871900 784100
g (S ) |512000 | 458400 429800 368700 330000 300300
p:l FIRIE (SSW) | 573400 | 515500 | 488500 | 424100 389100 359300
L= (SW) | 620600 | 562600 534300 470400 438000 405400
iz Lifeaic] (WSW)| 625700 | 570900 542900 484000 453900 420200
=RF] (W ) [585100| 536600 510900 461000 432200 399700
IHK Fdt? (WNW)| 507600 | 468800 446700 408700 381400 351800
ik (NwW) | 412500 | 383900 365100 335300 310000 284800
=l JEdE?E (NNW) | 330000 | 306100 290200 264400 241200 220400
% |t (N ) |283300| 261400 246900 221900 195800 174200
JE4E3R (NNE) | 309100 | 285200 268200 238700 201500 171200
Rib (NE) |360900 | 334100 310100 274700 225600 183900
RiLE (ENE) | 410200 | 378900 348900 307700 248900 199100
fu |/ (E ) |446600| 410400 376800 331000 265900 212600
RER (ESE) | 467200 | 427600 392700 344800 279100 227200
5RE (SE) |476300| 433900 | 399500 | 347300 287300 241700
FIRIR (SSE) |488200| 439800 407800 350400 301500 265300
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5 (I HKk) ( Ks )

BRI A EB s 15° >15°S | >30°S | >45°S [ >60°S | >75°< | >90°s | >105° | >120° | >135° | >150°
30° 45° 60° 75° 90° 105° | £ 120° | £ 135° | £ 150°
=1 S ) 1.06 | 098 | 0.89 | 0.76 | 0.59 | 043 | 0.27 | 0.19 | 0.23 | 0.11 | 0.10

MEE (SSW) 110 | 099 | 091 | 0.78 | 0.62 | 046 | 0.30 | 0.21 | 0.15 | 0.11 | 0.10
EE (SW) 1.10 | 099 | 091 | 0.79 | 0.65 | 050 | 0.34 | 0.24 | 0.16 | 0.12 | 0.10
5 ERIE (WSW) 1.06 | 097 | 0.89 | 0.77 | 0.64 | 0.50 | 0.36 | 0.25 | 0.17 | 0.12 | 0.10
7 W ) 104 | 094 | 085 | 0.73 | 0.60 | 0.47 | 0.34 | 0.25 | 0.17 | 0.12 | 0.10
FEILFE (WNW) 099 | 091 | 0.80 | 0.67 | 0.54 | 042 | 0.30 | 0.22 | 0.16 | 0.12 | 0.10
ik (NwW) 098 | 0.87 | 0.74 | 059 | 0.45 | 0.36 | 0.25 | 0.19 | 0.14 | 0.11 | O.10
JEdEE (NNW) 09 | 083 | 068 | 052 | 0.38 | 0.30 | 0.21 | 0.17 | 0.13 | 0.11 | 0.10
£ |4k (N ) 095 | 0.80 | 065 | 049 | 0.34 | 0.27 | 0.19 | 0.16 | 0.13 | 0.11 | O.10
1tdLE (NNE) 095 | 079 | 064 | 049 | 0.35 | 0.28 | 0.20 | 0.16 | 0.13 | 0.11 | O.10
=i (NE) 095 | 080 | 0.66 | 0.52 | 040 | 0.31 | 0.22 | 0.17 | 0.13 | 0.11 | 0.10
®4LHE (ENE) 09 | 082 | 069 | 0.56 | 044 | 0.35 | 0.25 | 0.18 | 0.14 | 0.11 | 0.10
= E ) 09 | 0.85 | 0.73 | 061 | 0.48 | 0.37 | 0.26 | 0.19 | 0.14 | 0.11 | O.10
REIE (ESE) 1.00 | 090 | 0.77 | 0.65 | 051 | 0.39 | 0.27 | 0.19 | 0.14 | 0.11 | 0.10
RE (SE) 1.03 | 092 | 082 | 0.68 | 0.54 | 040 | 0.26 | 0.18 | 0.13 | 0.11 | 0.10
RMER (SSE) 106 | 095 | 0.86 | 0.72 | 0.56 | 041 | 0.25 | 0.18 | 0.13 | 0.11 | 0.10

B 5 9\ 3% BEB(HK) = & F 5 0 R BSRB(HK X ER AR Z B 5 B (H)Z1 E & BKs
EEHSAFEREESER2ZIHKE

it 1
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6 Ui
6- 1 Ui
i ( ) Ui
1
Ul — (@)
1/ho +Z dx/kx +ra +1/hi
Ui: Wi( K
ra: [ K/W]
ho : ( 23.0) [W/( K)]
hi : ( 9.0 7.0) [WI/( K)]
kx : | [W/(m K)] 3-2
dx : | [m]
ra
ra| K/W]
( ) 0.155
( ) 0.13
0.086
( ) 0.24
0.28( )
0.46( 20cm)
0.78( 20cm)
1.09(
( ) 1.36(
(1) ra ra=0
(2)
3) Ui 7 7

28




6 - k
p k
[kg/m’] 80% [W/m K]
7860 45
2700 210
8960 375
7400 25
(ALC) 600 0.17
1600 0.8
2200 1.4
(PC) 2400 1.5
2000 1.5
( ) 1380 0.51
2400 1.3
1650 0.8
1950 1.1
2000 1.0
2540 0.78
2670 2.8
2810 3.5
( ) 1860 1.5
( ) 1560 0.93
( ) 1450 1.05
( ) 1070 0.47
1850 0.62
1300 0.8
1000-1500 0.19
(FRP) 1600 0.26
2230 0.73
1800 0.33
1020 0.11
550 0.15
700 0.21
300 0.046
200 0.044
200 0.042
10-96 0.04
40-160 0.042
1200 0.051
200-400 0.064

29




6-2

[ k&Y m

k p
80 %[ W/ m

200 - 4
400- 8
1050
400-7
430- 8

00
00

00
00

670-1|080

380

N~ DN OO A~

8 0
> 7
> 0
00
3 0
4 0

1950
710-1
1500

110

600-1|1200
400-1|1000

1100
450
850

O OO OOk OO0 O 0000|000 O 0o oo

(PU)

(PU

)

PS )16 -
PS )28
25
25
20 -
30 -
30 -

30
40
50
50
40
70
70

N b~ 01OV

00
5 0
00
2 0

30

O OO O OO0 OO0 0O oo oo

(1)
(@)
®3)

30

k']

.]09 7
13
]2 2
17
|18
19
]1 3
17

|18
.]0 93
.10 8 8
.J051

17
120
]15
|12
.12 4
12
21

.]040
1037
.]0 28
.1029
.]J050
.10 38
.]0 36
.109 4

11
.67
.10 4 4



7 Ui
7- 1 Ui
( mm) Ui[W/(m® k)] ( mm) Ui[W/(m? k)]
o
3 6.31 5 | 3+A12+43 3.10
5 6.21 S | 5+A12+5 3.05
6 6.16 6+A12+6 3.03
8 6.07 8+A12+8 2.98
10 5.97 10+A12+10 | 2.94
12 5.88 12+A12+12 | 2.90
15 5.75
19 5.59
2 S
5 | 3+A6+3 3.31 5 | 3+Aigl2+3 | 1.93
5+A6+5 3.25 5 | 5+Aigl2+5 1.90
6+A6+6 3.23 6+Aigl2+6 | 1.89
8+A6+8 3.17 8+Aigl2+8 | 1.86
10+A6+10 3.12 10+Aig12+10 | 1.83
12+A6+12 3.07 12+Aigl2+12 | 1.80
2 [3+aigst3 | 262 5+ +5 492
2| 5+Aig6+5 2.58 6+ +6 | 4.88
6+Aig6+6 2.56 8+ +8 | 4.71
8+Aig6+8 2.52
10+Aig6+10 | 2.48
12+Aig6+12 | 2.44 8+A60~80+8 | 2.98
A6 6mm Ra=0.14[m’ k/W]
Al2 12mm Ra=0.16[m>.k/W]
Aigb 6mm
Aigl2 12mm
Ui Ui
PC ploycarbonte U
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7- 2 Ui
7-2. 1 Ui
d x
[ m|]1/ kx Ui =
[ m. K[ W&/ (
/ --F1/7 23] 000
7 0. 010000 1| 300
7 0. 0 1|510 1.}0&-
WO o1 7 0. 1200 1| 40
7 0.010000 1 500
¢ ' --t1/ 9| 000
’ --F17 23] 000
7 0. 010000 1| 300
4 0. 015100 1| 500
Wo 02 ¥ 0. 150000 1| 400 7
7 0.010000 1| 500
/ --F1/ 9l 000
/ - -1/ 23] 000
7 0.010000 1| 300
4 0. 01510 1| 500
WO 0|3 7/ 0. 2 3010 o.%oo”
) 0.01010 1 500
/ --F1/ 9 00O
--F17 23] 000
0.00[610 1| 300
0.00[30 45, 000
WO 0|4 0. 01510 1| B0 ® 2
0. 1200 1 400
0.01000 1 500
--L1/ 9| 000
ql. . --F17 23] 000
1l 0.01000 1| 300
f 0. 0 1|510 1.§o%c
wools 7 o 0. 10000 O 8§00 7
) ° 0.010000 1 500
are --F1/ 9 000
) --F17 23] 000
/ 7 0.00/80 1 300
/2 0.1800 1| 50Q
WO 0|6’ : 7 --L 0.086°"
/ 7 0.02510 0| 260
: - --t1/ 9| 000
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7-2 Ui
dx
[m] 1/kx | Ui=LR
[m.K/W] ([Wi( .K)]
. - | 1/23.000
;7 0.0080 | 1/0.780
a 0.086
WO007 / g 0.0100 | 1/1.200 | 2 . 2 4
7 0.086
;7 0.0180 | 1/0.180
.7 1/ 9.000
) - | 1/23.000
’ 0.0080 | 1/0.780
) 0.086
W008 ’ 0.0016 |1/21000| , gd
, 0.0300 | 1/0.042
/ 0.086
p 0.0120 | 1/0.170
y 1/ 9.000
, - | 1/23.000
g 0.0080 | 1/0.780
’ 0.086
WO009 , 0.0040 | 1/1.200| 0. 9 ¢
. 0.0320 | 1/0.042
’ 0.0040 | 1/1.200
g’ 1/ 9.000
- | 1/23.000
0.0080 | 1/0.780
WO010 0.086 2. 3¢
0.0250 | 1/0.150
1/ 9.000
—-- | 1/23.000
/ 0.0080 | 1/0.780
/ 0.086
/ 0.0250 | 1/0.150
wo011 e
g 0.086 0. 78
7 0.0040 | 1/1.200
e 0.0320 | 1/0.042
/ 0.0040 | 1/1.200
/ 1/9.000
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7-2. Ui
d x
[ m|] 1/ k¥ Ui =L/R
[ m. KAV (| K) ]
P ---11723]000
7 0.00[6D/ 210.00
7 ---1 0.08l6
7 0.0001B/210.00
WO 1 Z 0.03/0D/ O Oﬁégco
7 ---41 0.086
g 0.0120 o0.[170
7 ---117 9|lo000
---11/23]000
0.006D/210. 00
0.02/00/ 0] 051
WO 1 ..l 0. o0g61-2931
0.0250/ 0] 150
---41/ 9|loo00
- - -11723]000
0.006D/ 210.00
0.003D/ 0] 730, .
WO 1 ..l 0. 0d6° %31
0.02/50/ 0] 150
---117 9|lo000
---11723]000
0.00[6D/ 210.00
0.02/00/ 0] 051
---1 0.086
Wo 1 0o.004ns 1| 2%07 %%
0.0320/ 0] 042
0.004D0/ 1| 200
---117 9|lo000
- --117/23]000
0.03/00/ 3|500
---1 0.08l6
0.0001B/210.00
Wo 1 0.03/00/ 0 0@2853
---1 0.086
0.0120/ o] 170
---41/ 9loo00
---11/23]000
0.03/00/ 3|500
---1 0.08l6
Wo 1 0.15/00/ 1| 4%0"9°
0.01l00/ 1| 500
---41/ 9|loo00
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7-2. Ui
d x
[ m|]1/kxUi =[1/R
[ m. K{[WW ( |. K)]
- - -F1/ 23] 000
? 0.00[610 1| 300
9 0.00[30 45, 000
WO 1 ? 0.0200 0| as244
9 - --L 0.086
? 0.02/510 0| 150
% - --L1/ 9. 000
- - -F1/ 23] 000
0.00610 1| 300
0.0030 45, 000
WO 1 0.0030 O0f 23@&d4
- --L 0.086
0.0250 0| 150
- --t1/ 9l 00O
- - -F1/23] 000
0.00610 1| 300
0.0030 45, 000
0.0200 o0f 051
---F o0.0860. 711
WO 2 0.00[40 1| 200
0.03210 0| 042
0.00/40 1| 200
- --t1/ 9l 00O
- -[F1/23] 000
0.0050- -
0.003a/ 1|5
WO 2 - - - -
0. 0501/ 0.[042
o.oo3a/1.56'6EO
0.0121/ o. 26
0.09a/ 23.88
0.0121/ o. 17
---Ft1/ 9l 00O
- -[F1/23] 000
0.0050- -
WO 2 0.0030/ 1.5
0.083@/0.[0026§2
0.0030/ 1|.50
0.1500/ 1.4
0.01510/ 1|.50
---t1/ 9l 00O
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7-2. Ui
d x
[ m|]21/ kx Ui =
[ m. K[ W/ (
--F1/ 23] 000
0.02010 3500
0.00/510/ 1.(500
WO 2 0.01/0100 1| B0 ® 2
0. 15/010/ 1.(400
0.01/0100/) 1| 500
--t1/ 9| 000
--F1/ 23] 000
0. 0300/ 3[.50
o.o3om/1.5§o d
WO 2 0. 1500 1| £00
0.01/010/ 1.]500
--11/ 9 000
- -F1/ 23] 000
0.01/80 3| 500
0. 0 1|510 1.}085,
WO 2 0. 15010 1 400 ]
0.01/0100 1| 500
--t1/ 9| 000
--F1/ 23] 000
0.02/410 3500
.-+t o0.046
WO 2 0. 1500 1| £od §
0.01/0100 1| 500
--t1/ 9| 000
--F1/ 23] 000
{ 0. 0100/ o0f. 78
-} 0.185
WO 2 0.01o0n/ o. 787
--t1/ 9| 000
--F1/ 23] 000
50CM | 0.50010 1| 050
XA 0.0200 O0f 190
WO 2 2 0. 0 1/010 O.éloc
0.01sw0 1| 5087
0. 1500 1| 400
0.0100 1| 500
--t1/ 9| 000
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7 - Ui
7- 3. 1 Ui (2009 )
d K 1/ Kk x
[ m ]| [ m K/|Wui =1
[ W/ (
- --| 1/23.]000
Py o0.002/0 1/ 0.[050
0.100[/0 1/ o0.|s00
0.001[5 1/ 45 .00
RO O 1 - 0.025[0 1/ o.oéﬁ'gj
( 0.010 1/0.040
PsS |)
----| 11 7.lo0o0
- --| 1/23.]000
Py o0.002/0 1/ 0./050
0.100[/0 1/ o0.|s00
0.0015 1/ 45 .00
RO O 2 0.020[0 1/ o.osdi'gZ
- - 0losse
0.0150 1/ 0.|l0o64
----| 11 7.lo0o0
- --| 1/23.]000
0.0015 1/ o0.]19
( 0.075[0 1/0. 037
PsS |)
0.00231/45.0&9 3
0.0030 1/0.|l051
RO O 3 ( - 1/0.18
20 c/m)
0.0120 1/ o0.|lo64
----| 17 7.|loo0o0
- --| 1/23.]000
0.0015 1/ o0.]19
( 0.050 1/0.037
PS |)
0.100[/0 1/ 1.|500
RO 0 4 0.0015 1/ 45.|00®. 3 7
0.003 1/ o0.lo51
( - - 1/0.178
20 ¢ m)
0.012 1/ o0.lp640
----| 11 7.lo0o0
- --| 1/23.]000
0.150[0 1/ o0.|170
0.010[0 1/ o0.|]110
RO O 5 0.150/0 1/ 1.la0%b. 7 §
0.010[0 1/ 1.|500
----| 17 7.|loo0o0
- --| 1/23.]000
o° S (Pu) 0.002/0 1/ 0.{050
- 0.100[/0 1/ o0.|]170
0.0100 1/ 0.1110 - 4
RO O 6 0.150[0 1/ 1.|l400" '3
- - 0.086
0.0150 1/ 0.|l0o64
----| 11 7.lo0o0
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7- 3 Ui
d| x 1/ Kk x
[ m [ m. K/ [W]JUi =1
[ W/ (
----| 12/23.|0o00
( 0.02qQq01/ 1.|(500
( 0.03d01/0. 040
0.07dqo1/ o0.|800
0.014q01/ O0.[110. 7 4
ROO 0.02dqo01/ 1.|500
0.15dq01/ 1.|400
0.01401/ 1.|(500
--=--| 1/ 7.l000
.- - - 1/23]0
Py 0.002 1/0.05
0.104qo0 1/0.17
0.0150 1/1.5%0
0.075 1/1.40
0.001 1/45/00. 9 1
ROO - - - 0.086
0.001 1/45)0
0.075 1/1.40
0.010 1/1.50
- - - 1/7.00
----| 12/23.|0o00
0.05q01/ 1.(000
( .- - - 0.46d0
<20 m)
ROO 0.014qo01/ 0.1
0.15q01/ 1.4&%'7]
0.01301/ 1.|(500
( 0.02dqo01/0. 040
PS
.- - - 1/ 7.000
----] 127/723.f000
0.05dqo01/ 1.(000
ALd ( - - - 0.46d0
<20 m)
RO 1 1 0.014q01/ 0.1 A
5 ALC 0.10dqo1/0. 17 S 3
L 0.01301/ 1.|(500
( 0.02dq01/0. 040
PS
.- - - 1/7.000
----| 12/23.|000
0.05dq01/ o0.|110
0.014qo1/ o0.|110
0.04q01/0. 22
RO 1 0.014q01/ 1.53%'96
0.15dq01/ 1.|400
0.01401/ 1.|(500
--=--| 1/ 7.l000
----| 12/23.|000
0.00530 1/ 465p
40 100cm - - - 0./7800
0.01501/ 1.(501. 91
RO 1 0.15dq01/ 1.|400
%%—|/; 0.01301/ 1.|(500
] --=--| 1/ 7.l000

38

] K) 1



k)

7-3.2 Ui
d x
[ m|] 1/ kX Ui =[]/
[ m. K/ MW/ (
- - -1 1723/ 0
0.005 1/ 44
0.01/0@/0.110
RO 1llz= 0.04/0Q@/ 0. p400. 743
PS
TYRE C - - - -
A - - - 1/ 7./00
- - -1 1723/ 0
0.03/3 1/ 44
0.0 1/0.042 _ |
0.003 1/49 9-796
TYRRO1 C - - - - - -
B - - - 1/ 7.]00
---117/723]000
0.lopB00| 050
PU T 2 2500pSi 0.lo5001| 400
WA PU 0.lo250.p28
R01Z/GA47?7/ o.bzoo1| 4%0"9°
o S 0.15001| 500
Co - 0.0150.400
---11/ 7]000
---11723]000
2500pSi 0.05/0D/ 1| 400
e — PU 0.0250/0.p028
Aqﬁ//Axliqé Py 0.0050/0.050 _ J.
RO - /// -%5 0.015Q@/1.500
R 0.15/00/ 1| 400
0.0150/ 1|500
---11/7.p00O
H ---117/23]000
s . 0.01/0D/ 1|300
0.00/5@/1.500
0.10/0@/0.0270
0.01/00/ 0] 101.09 98
RO 1 0.02/0D/ 1] 400
0.15/00/ 1|500
0.01/5Q@/1.400
---11/7.p00O
---117/723]000
55CM| 0.5500/ 1| 050
0.02/0D0/ 0] 190
0.01/00/ o0} 110,
RO 1 0.0150/ 1 §%09 1
0.15/00/ 1] 400
0.01/0D0/ 1|500
---11/ 7]000
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8 ni
8 - ni
Mmi | ( %)
P[5 5 9 0. 84
P|6 6 9 0.82
P|8 8 9 0.80
P10 10 8 0.78
P12 12 8 0.75
P16 16 7 0.71
P19 19 7 0.67
B5 5 1 0.68
B 6 6 9 0.65
B8 8 8 0.59
B10 10 8 0.55
B12 12 7 0.51
A5 5 6 0.61
A6 6 6 0.57
A8 8 5 0.50
A10 10 5 0. 45
Al2 12 4 0.40
C5 5 5 0.67
C6 6 5 0.62
C8 8 5 0.56
cl10 10 5 0.51
cl12 12 5 0. 46
G5% 5 8 0.60
G6 6 7 0.57
G8 8 7 0.52
Gl10 10 7 0. 47
GP1212 6 0. 44
SLES| 6 6 9 0.62
SLE |S8 8 9 0.60
SLES|10 10 9 0.57
SLES|12 12 9 0.54
SLEG 6 6 7 0. 42
SLEG 8 8 7 0.39
- SLEG10 10 7 0.37
Q SLEG12 12 7 0.36
g SLEB| 6 6 7 0. 46
c SLEB|8 8 7 0. 41
E SLEB1J0 10 7 0.39
SLEB12 12 7 0.37
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8 - n i
mm R
PLG 5 5+ pvb 11 0. 77
PLG 6 6 + p6 b 10 0.73
PLG 8 8 + pa8 b 9 0.70
PLG1O 10+pMb 8 0.67
CLG 5 C5+pyb 7 0.62
CLG 6 C6+po b 6 0.56
CLG 8 C8+p¥b 5 0.48
GLG 5 G5+ piy b 7 0.57
GLG 6 G6 + prg b 7 0.53
GLG 8 G8 +py b 7 0.48
BLG 5 B5+py b 7 0.58
BLG 6 B6+p& b 6 0.53
BLG 8 B8+ pw¥b 5 0. 47
OLLGSS OLS5+pvVbD 36 0.53
OLLGSE OLS6+pvVb 36 0.50
OLLGSE OLS8HpVbD 36 0.45
OLLGS1|0 OLS10+pvt 36 0.41
OLLGC |5 OLCB5+pvb 17 0.45
OLLGC |6 OLC6+pvVb 14 0. 42
OL LGC8 OLC8+gvb 11 0.309
e OLLGC1/0 OLC10+IpvH 8 0.34
5 OLLGGS5  OLGS +pBvb 30 0.309
id OLLGGS6 OLG6 +ipvb 28 0.37
5 OLLGGE OLGS8+4v b 25 0.36
= OLLGG1[0 OLG10+lpv b 23 0.35
) OLLGBS5 OLB5+pvb 21 0. 42
Q OLLGB6 OLB6+pvVb 18 0.309
@ OLLGBS OLB8+gvVbD 14 0.36
OLLGB1/0 OLB10+IpvH 11 0.33
FLLGSHY FLS5#pvD 37 0.24
FLLGSH FLS6+H#®VD 36 0.23
FLLGSYd FLS8#pvhb 36 0.23
FLLGS1/0 FLS10#®vV! 35 0.22
FLLGCH FLC5+pvb 27 0. 109
FLLGCH FLC6+pvb 26 0.19
~ FLLGCY FLC8+pvb 26 0.19
2 FLLGC1[0 FLC10#pvH 25 0.18
= FLLGGH FLG5+pVD 30 0.25
3 FLLGGH FLG6+pVD 28 0.24
e FLLGGY FLG8+BpVbD 24 0.23
2 FLLGGL|0 FLG10+pvh 22 0.22
g FLLGBY FLB5+pvD 28 0. 109
o FLLGBH FLB6+pVb 27 0.19
B FLLGBY FLB8HHpVD 26 0.19
FLLGB1[0 FLB1O#pvH 26 0.18
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8 - n i
mri | ( %)n i

DP5 5 Airts 15 0.75
DP6 6 Airt6 14 0. 73
DP8 8 Airt8 14 0.70
DP10 1 OAdr+10 14 0. 68
5~10+Air+ 18 0.45

DPS +5~10
5~10+Air+ 23 0.27

DPAIS +5~10

DC5 C 5 Afir+5 10 0. 64
DC6 C 6 Afir+6 9 0.60
DCS8 C 8Ar+8 8 0.55
DC10 C1 Qir+10 7 0.50
DG5 G 5 Afir+5 13 0.50
DG6 G 6 Airt+6 12 0. 47
DG8 G 8 Air+8 11 0.41
DGO G 1 Q\it+10 10 0. 36
DB5 B 5 Atir+5 9 0.52
DB6 B 6 Atir+6 8 0. 48
DBS8 B 8Atir+8 7 0.41
DB10O B 1 Quit+10 7 0. 36
DA5 A 5 Atir+5 8 0.51
DA6 A 6 Atir+6 7 0. 47
DAS A 8 Atir+8 6 0.40
DA1O A1l QAit+10 5 0. 36
OLDRS |5 OR SA&i#5 42 0. 41
OLDRS |6 OR SA&ir+6 41 0.40
OLDRS |8 ORSS&i*8 38 0.39
OLDRS1|00R S 1AG+0 36 0. 38
OLDRC |5 ORCB&i5 14 0. 37
OLDRC |6 ORCABi+6 12 0.32
OLDRC |8 ORC8&i+8 10 0.30
OLDRC1|00R C 1A&+0 9 0.28
3 OLDRG |5 ORGA&iH5 42 0.31
% OLDRG |6 ORGBit6 38 0.28
= OLDRG [8 ORG8ir8 32 0.25
S OLDRG1[00OR G 1AG+0 26 0.23
3 OLDRB |5 ORB A&iHS5 22 0. 32
§ OLDRB |6 ORB &ir6 20 0.209
OLDRB |8 ORB 8i+8 18 0.25
OLDRB 1|0 0ORB 1A&+0 16 0.23
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8 - n i
Rvmh | ( %)n i
FLDRS |5F R SAir+5 37 0. 18
FLDRS |6F R SAir+6 37 0. 18
FLDRS |8F RSAr+8 36 0. 18
FLDRS1|0F RS A®+0 36 0. 18
FLDRCYH F RCAirt5 18 0. 18
FLDRCEH F RCA&irt6 18 0. 18
FLDRC8 F RCRAir+8 18 0. 17
q FLDRCI1|F RC GO 18 0. 17
L FLDRGY F RGAir#5 28 0.18
B FLDRGG F RGAirt6 28 0.18
2 FLDRGS8 F R GA&ir#8 28 0.17
;% FLDRGI1|F R GIAG+0 28 0.17
3 FLDRBY FRBAir+5 17 0.18
@ FLDRB®@G F RBA&ir+6 17 0.18
i FLDRB8 F RBA&ir+8 17 0.17
FLDRBI1|FRBIAG+0 17 0.17
OLEPG6 | OL EA&irt6 12 0.53
OLEPS8 | OL EBS&ir#8 12 0.52
o OLEG6 | OL GAirt6 10 0.33
= OLEGS8 | OL G&im8 9 0.209
OLEBG6 | OL BAit6 10 0. 36
OLEBS8 | OL G8&i+8 9 0. 33
6 S L EAirt6 15 0.57
- 6 DL E &irt6 12 0. 46
%’ 8 S L EAir+8 8 0.54
m 8 DL E&ir#8 8 0.40
G6 SL EQ@&a+ 8 0.39
G6 DL E GABr#8 10 0. 33
G8 S L E GAir88H 7 0. 34
G8 DL E GABr#8 10 0. 30
B6 SL EBRG+b 6 0.26
B6 DL E BA&+ 8 0.29
B8 S L E B\G+8 6 0. 32
B8 DL E BAS+ 8 0.25
1. n i SC(Shading Coefticent)
SC 3mm SC ni
1.0 ni SC 0.88
2.
3 10mm ni
PC ploycarbonte 10mm
10+Air+10mm 1
10+Air+10mm ni

wnk
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A fvi

. B 16 SR 4 B

( )
)
fvi 2.5 1.5 1.0 0.
B fvi
5
% 5B BX® BB
a A a ., axl.0+ax1.0+Ax3.0
fvi
a+a+A
a=1 A=2
fvi'=(1x1.0+1%1.0+2x2.5)+(1+1+2)
=1.75
C fvi
HE BT & &
a A a 5
AR 2.0
‘ ., ax0.8+ax0.8+ Ax2.0
fvi
at+a+ A
a=1 A=2
fvi’=(1%0.8+1%0.8+2x1.5)+(1+1+2)
=1.15
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A Uar
A3k FRHE AR
d
m 1/k r=d/k Uri=1/R Ugi=Ui
(m.k/W) | k/W) k) (W/( K))
Ui 7-1 6-2
Ui 6-1

UrixAri > (UrixAri)+
Uri(Ugi) Ari(Agi) (UgixAgi) > (UgixAgi)

> (AritAgi)=

Uar=2 (UrixAri)+2 (UgixAgi)/Z (Ari+Agi)

Wi X))

1.0 (W/(

k)  OK!
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B H Ws Gr i

7 3= [E Rl A R
HWs 80° Hwa 1.0m?
1.0
ni (
kK hi Agid( m
) 1.0 khi 1.0D
No.1
No.2
No.3
U 3.0 w/(m.k) ?
> (1.0-Khi)xni xAgi
HWaX Ag i

HWs 2 (1. 0-Khi ) xni xAgi [ Z Agi

HWa 30 HWsc 0. 35 HW3a HW80 1Mm 0 m ?

230 mHWsc 0.35 0.001xHWat 30,0
HWa 2°30HWsc 0. 15 HWs HWs ¢
( ) Gr i
Gr |Gr i 0.25
5 Yes No
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AW SG
ki kist, 2) AWSG AWSGs
FEEYMAEXAHREAETTERZBBRERG ? O NO 0 OK
i i RELLETE(Y2/Y1 or X2/X1 or i Kis Ki<Kis
(KFE., EE., BF?) (Y2/Y1+X2/X1)[2 =7?) : ( 2) Yes No
(1) Ki 3 (2) Kis
OK AWSG AWSGs D
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AWSG

EREER
(XKF, EE, KF?)

RELEETE(Y2/Y1 or X2/X1 or
(Y2/Y1+X2/X1)[2 =?)

IHki . . . Ai

( kK Wh/ ( Kl a 5] 5 fvi ( ) IHkixK kn ix fvi xA

1.0

1.0

1.0

1.0

1.0

1.0

1.0

1.0

Ai

HkixKixn i fvi Ai =

HkixKixn i fvi Al =% Ai ( kK Wh/ (

AWSGs

(kWh/ ( .a))

(1) Ki

3

(2)IHki 4

3AiL i [ 1] @ni i 8
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AWR

YAi

(Awj)

(ZAw))

1.
2.

AWR=ZAi/(ZAwj)=

AWSGs

AWS GSAWRA &4.12AWR 276 . 2

AWS Gs AWK 36.136AW8 375 . 4

AWS Gs AWKE 87. 48AWR 436. 0

k Wh /%.( am
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AWSG fvi 1.0
EBRER RELEETE (Y2/Y1 or X2/X1 or IHki K 0 Ai IHKixK kn ixA i
(AP, BE. BT ? (Y2IY1+X2/IX1)2 =2) (kwh/ (| ~a)) C )) (fvi=1
Ai
THKixKixn ixAi 5
HkixKixn ixAi <% Ai ( k Wh/ (
AWSGs . ( kK Wh/ (
(1) Ki 3 (QIHki 4 ()AL i [ 1 @ni i 8
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ERE, AEZHEMREMCEERAEERTEES

STEP1~STEP6 A B
A
STEP 1
a
200m
b
c
d 1
2
e
STEP 2 Uri
6
A Uri
STEP 3
> Ari X Agi
2 Ari
STEP 4 Uar
A Uar=% (UrixAri)+Z (UgixAgi)/Z (Ari+Agi)
1.0 (W/( k)
STEP 5 H Ws
HWs
B
3
Ksi 8 ni
k hi
1. 0-Kkhi Agi
HWs 2~ (1. 0-Khi ) xKsi xni xAgi I £ Agi
HWs c HWa (3)

H Ws HWs c

52



STEP 6

STEP 7

STEPS

STEP9

STEP10

STEP11

STEP12

STEP13

STEP14

Gr i 0. 25
Rvi Rvi
. 25 B
Al
AWSG Al
1 5m
Al D
Ki
3 Ki
ni
nt 1.0 D
8 E
IHki
4
9 fvi
> THkixKixn ixfvixAi
D E
> Ai
AWSG

A WS G =IHKIXKixn ixfvixAi)+Z Ai
AWSGs
E-1 AWR
AWSGs AWS G AWSGs
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STEP 1

600 2400 2800
} Aoa[zo{o ADIDAnO\ 400‘[ Ano{ Aoa‘ 400{ 400 400 400{ Ancr‘ 400 400{ 400‘200

I

©
o
I a
8
1= _
; 8
o 1 =
‘ s
! 1
i
o 3
d ! _|
I
e
| 8
g 1 —
= g
T o B
I =
g [ 8
s s
© 430
830 825
600 2400 2800
AUDJ‘ZU{U 4001‘ 4UUT 400% 400‘1 400‘1 400] 4001‘ 4001‘ 400“ 4UOT 4UUT 400‘1 4DU‘IZUD
e © ‘
© o o | [ e g

o o o o o o "
T == IPTIRN § E o= = IT I L IL §8
g =) g

1 7@
= ,®§
%}j4
N
d :%gN
Ui P

]
[]
[]

830

1830
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(] o=
T

]
® © ® )
} 830 l 1 040300 ' 715

1830

240.0

100.0

B
© N
™~ o
o o
FL w
& 1E o ©%
STEP 2 Urn
Uri
A 6 Uri 0.74 1.04
Wi k)
STEP 3 Ari
1. 3FL 232.105
2. 2FL 312.105 232.105 80
3. 2FL 523.18 2.3x3.1 530.31

2 Ari 842415
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=.0

600 2400 2800
} 400,200 400, 400, 400‘ 400, 400, 400| 400, 400, 400, 400, 400, AOOT 4004200
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i
it

77 1T %% B
5 ©
e 57 N\
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43 =
=] 5 /’@
H B ¢ 2
i E ? /7@
[ 1 L | 97 |
Bl =
BGB@ g ﬁ}/ ]
5 = g
1380175 B ‘wéﬁéilo ] 43011%500%
1830 | [ 1830 |
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STEP 4 Uar

A Uar 2 ArixUrn /2 Ari
[ 232.105 530.31 x0.74 80x1.04]/842.415
0.77 1.0 (W/( .k)) OK
STEPS H Ws
H Ws
STEP6 Gr i
8 mm 0. 009
0. 25
STEP7 Al
1. 5m
Al D
Al
STEPS Ki
1. 7 m
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3[ 10

225

X2, Xe"=170

=575
82

X1
63

215
360

82

63

X1'=215
‘ 215
360
1007

STEP9 ni
ni 1.0
STEP10 IHki
4 IHk D
STEPI1 9 fvi
fyi=1.0
STEP12 5 THKixKixn ixfvixAi
Al Ki ni IHKi 5 THKixKixn ixfvixAi
33692.3( k Wh/ a)
STEP13 S Ai
Ai S A 227
STEP14 AWSG
AWS G =THKEXKixn ixfvixAi)+Z Ai 1484( K Wh/ (. a))

AWSGs=1 6 0 (kK Wh/ (. a))
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S
1/ k r=d/ R=3r Ui =1/
K/ w K/ W K/ w| wi K
- - - 1123 Q@i
0.05[00 4/ ot PP
T 0L 460Q60
0.15[00 1/ ol fPe
0.0150 17 ol FofP
PS 0.02001/0.0420. 476
---4 1/7.0000. 143
R 123 90P
0.05[00 1/ 1o 590303
0.0200 1/ 0g. O5400p
0.05[00 1/ 0g 89003
RO 0 B s Logwm s ] P U 0.0050 17 00 10140 1. 01 1
é/,,‘;zé?/, ?lZ;; 0.02[0 1/ 1y 500104
s 0.15[00 1/ 1y 41000}
0.0150 1/ 1o 500109
cee - 1/ 7g. 010404
Ui 7-1 k 6- 2 Ui
Uri *Ar| S(Uri *Ari
Uri (Ugil Ari (ANgiyAgi) =z(Ugi*Agi
R-009 0. 74 762.415 564.19
R- 1 1.04 80 83.23%7.309
SAri (Agi) 842.415 “e -
S(Ari +Agi)= 842.415

Uar =2(Uri*Ari)+zZ(Ugi *Ag

=0.77 (w/ k)

1.0 (W (
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B HWs Gr i
ARREREAR
HWs 80° Hwa 1.0m?
, (1.0
B, 3 Ks i
3 ( ni Agid( m
) 1.0) ) ), 1.0-|khi
S,15° 0.98 Low- E 0.6 50 . 0
DLE 8+|P8
, N 0/ 40
No.1
No.2
No.3
No.4
U 3.0 w/(mt .k) ?
> (1.0-Khi)xKsi xni xAgi
HwaX Ag i
HWs X~ (1. 0-Khi ) xKsi xni xAgi /I ZAgi
H Wa 30 HWsc 0. 35 HWaHW380 1m0 m ?
230 mMHWsc 0.35 0.001x[HWaTr 300
H Wa 2230HWsc O0.15 Ws HWs c
Gri
Gri|Gri 0. 25
5 Yes N o
8 mm P8 0.09 ©
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AWSG
(Y2/ Y1l or X2 X1 Hdkri Ki n fv'iAi Ki xni xI Hk
(Y2/ Y1 X2/ X1)/lgkWR/YX .a)l C )) (kWh/ a
1F-|N xIW Y2/ Y1l 170575 107.72.|0 01..70 150 16%x11 7
1F-|E x W 276. 4 1.0 1.0 1.0
2 F-|N xIW Y2/ Y1l 170-<+215 107.77.90 0. 67 1.0 1.0 9. |
2 F-IN xW2 177. ( 1.0 1.0 1.0
2F-|S x 8 Y2/ Y1l 170=+215 20/r.37 B 0. 385 1.0 1.0 5
1F-|E W1lx 4 Y2/ Y1l 170-®B®.|©9. 17/ 0. 71 1.0 1.0 5
1F-|S W1lx 2 Y2/ Y1l 170-28B. ®®. 17 0. 67 1.0 1.0 5
2F-E W1lx 4 Y2/ Y1l 170-352®.|©4. 27/ 0. 61 1.0 1.0 5
2F-|S W1lx 2 Y2/ Y1l 170-823.®. 27 0.5¢( 1.0 1.0 5
3F-|E Wilx 2 Y2/ Y1l 17026®.94. 74 0. 48 1.0 1.0 5
3F-|S W1lx 2 Y2/ Y1l 170-283.|®. 74 0. 386 1.0 1.0 5
2 A

21 Hki XKi xni xf vi

ioxni xf vi xAi =X Al 148. 4

AWS Gs OK# ! 160

(1) Ki 3 (2) 1 HKi 4 (403 Al i [ ] 8
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STEP 2

STEP 3

STEP 4

STEP 5

STEP 6

STEP 7

Uri

Urni
A Urn 0.99wW/( k)
Uar
Urni 0.99wW/( k) 1.0 (W/( k)
H Ws
H Ws
Gr i
8 mm Rvi 0.09 0. 25
Al
AWSG Al
Al Al
Ai YAi
1F-N W1 4.8 19.2
1F-S W2 4.2 16.8
2~5F-N W1 4.8 115.2
2~5F-S W2 4.2 100.8
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STEP 8 Ki

Ki
E-2 0.22
0.35( )
o L 1l
i
é
%
| 35 |
S e (=T
i
N Wi
2B4 ©
STEP9 ni
ni 8 Wi Low-E
ni 039 W2  8mm ni 0.79
STEP10 IHki
4 E-2
STEPI11 fvi=1.0
STEP12 S IHkixKixn ixAi
E-2 > IHkixKixn ixAi=199153 k Wh / a
STEP13 S Ai
E-2 S Ai=252
STEP14 AWSG
E-1 AWR
AWSGs 1271.34
AWR  ZAi/(ZAwj)=19.82% AWSGs AWSGs

348\WR> 748WR 436.0 3012 3&kWh/ (m
A WS G =Kixg ixIhkixAi)+Z Ai=79.03k Wh / ( AWSGs
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A Uar
I 5
m d 1/k r=d/k Uri=1/R Ugi=Ui
mk/W) |( kW) |(W/( k) |(W/( K)
-—-- 1/23.000
0.0500 | 1/1.500
0.0200 | 1/0.040
0.0500 | 1/0.800
0.0100 | 1/0.110
0.0200 | 1/1.500 0.99
0.1500 | 1/1.400
RO08 0.0150 | 1/1.500
1/ 7.000
Ui 7-1 k 6-2
Ui 6-1
UriXAri 2 (UrixAri)+
Uri(Ugi) Ari(Agi) (UgixAgi) > (UgixAgi)
R0O08 0.99

2 (AritAgi)=

Uar=2 (UrixAri)+2 (UgixAgi)/Z (Arit+Agi)
1.0 (W/( k) OK!!

0.99

W/ k)
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B HWs Gr i

2 5
HWs 80° Hwa 1.0m?
1.0
ni (
( 5) Khi Agid( m
) 1.0 khi 1.0
No.1
No.2
No.3
u 3.0 w/(m.k)
> (1.0-Khi)xni xAgi
HwaX Ag i

HWs 2 (1. 0-Khi) xni xAgi [ Z Agi

H Wa 30 HWsc 0. 35; HW4dHW&80 1m0 m ?

230 mHWsc 0.35 0.001x[HWai 30,0
HWa 2°30HWsc 0. 15 HWs HWs c
( ) Gr i
Gr | Gri 0.25
5 Yes N o
8 mm B P|8 0.06 ®
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E-1

AWR
35
Ai ZAi (Awj)
(ZAW))
IF-N | W1 4.8%4 19.2 IF-N 73.08
IF-S | W2 4.2%4 16.8 IF-E 35.91
25FN | W1 4.8x24 115.2 IF-S 73.08
25FS | W2 4.2x24 100.8 1F-W 35.91
2~5F-N 396.72
2~5F-E 129.96
2~5F-S 396.72
2~5F-W 129.96
252.00 1271.34
1. AWR=ZAi/(ZAwj)=19.82%
2.
3 AWSGs
AWS GsAWRA 64.120WR 27 6] 2
AWS Gs AWRF 36 136AWB 3 75/38 1. 3

AWS Gs AWRE 87. 48AWR 4 3 6/. 0

k Wh /% ( am
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AWSG 55
N N IHki , o
BRI (KFE, | RELEFE(Y2/Y1 or X2/X1 Ckwhiti(| ni Ai | Kikni
1 . .
EBE, BF?) |orY2/Y1+X2/X1)2 =?) a) ) ( YIHKixA i
IEN- W1 1:1#&F  10.35+1.60 0.22 283.310.2210.39 | 192 466.7
IFS (W2 K 3.55<3.10 1.15 512.00.35]0.79| 1638 2378.3
2~5F-N W1 11 8F  [0.35+1.60 022 283.310.2210.39 1152 2800.2
2~5F-8 |W2 K 3.55+3.10 1.15 512.0/0.35[0.79|100.8 14270.1
Ai 252
T [HkixKixn ixAi 19915.3
[HkixKixn ixAi W8 G®.03x ( k Wh / (
AWSGs =301.3(kWh/( .a)) AWSG
(1) Ki 3 (2)Hki 4
B)Ai i [ @ni i 8
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